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1. Introduction
This pCR proposes a new solution for KI#3.
2. Reason for Change
This solution addresses aspects of Key Issue #3. 
When the PINE A has the application traffic with application server and the PINE A wants to switch the traffic to other PINE B for better experience, the PINE A should discover the PIN first. 

If the PINE A has already been joined into a PIN, the PINE firstly needs to determine whether other PINE in this PIN can bear the same service type as PINE A. For example, if the PINE A has the video application traffic to application server, the PINE A needs a PINE which can play the video. So, only the PINE provides the same service type, can be the potential PINE B for switch offload. 
After the determination, the PINE A sends the request to PEMC for the traffic offload and the PEMC sends the endpoint information of PINE B to PINE A. The traffic flow can be switched to PINE B directly or via PEGC. 
3. Conclusions

N/A
4. Proposal

It is proposed to agree the following changes to 3GPP TR 23.700-78 v 0.3.0.
* * * First Change, all new text * * * *

7.X
Solution #X: Service switch internal PIN
7.X.1
Architecture assumptions

The architecture assumptions of Solution #1 are also assumed in this solution.
7.X.2
Solution description

7.X.2.1
General
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Figure 7.X.2.1-1: PIN Service Switch internal PIN
In Figure 7.X.2.1-1, it describes the service switch scenario. 
The PINE A has the application communication with application server. And when the PINE A decides to select other alternative PINE B to apply the traffic flow, the PINE A firstly should discover a PIN and join in. And then, in the PIN, there should exist the PINE that can be hosted with the same service type as PINE A, for example, the video flow, music flow or game flow. 
The PINE A can send the request to PEMC to determine the PINE B to host the application traffic. After the determination, the PEMC sends the endpoint information to PINE A and the PINE A can offload the traffic either directly to PINE B or via PEGC. 
7.X.2.2
Procedure of service switch internal PIN
Pre-conditions:

1.
The UE Identifier or PIN client Identifier of PINE A or PINE B is available;

2.
The PIN client in PINE A or PINE B has been authorized to communicate with the PEMC;
3.
The PIN client in PINE B can provide the same PIN service as PINE A’s traffic flow.
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Figure 7.X.2.2-1: Service switch procedure internal PIN
0.
The PINE A has application layer communication with application server. And the PINE A decides to do the service switch to other PINEs. And the PINE A has already been in a PIN. 
1.
The PINE A trigger the PIN service discovery procedure towards PEMC. 
2.
Upon receiving the request, the PEMC performs an authorization check to verify whether the PINE A has authorization to perform the operation. 
Editor’s note: The authorization check needs SA3 for feedback. 
3.
The PEMC provides the PIN service that the PIN can provide and the corresponding PINE endpoint, application client endpoint information to PINE A. The PIN service can be represented by service type that PINE provides or the application client on PINE. If the request fails, the PEMC should give the failure response to indicates the cause of request failure. 
4.
The PINE A determines the PINE B for service switch as follow: 
Option A: The PINE A maintains the service towards AS and the service corresponds to a service type, for example, music or streaming media. The PINE A determines the potential PINE B for service switch according to whether this PINE has the capability to carry the service. 

Option B: The PINE A maintains the service towards AS by application client which represented by Application Client ID. The PINE A determines the potential PINE B for service switch according to whether this PINE has deployed the same application client as PINE A. 

5.
(Use PINE B as example) The PINE A has two options to switch the service traffic to PINE B: 
Option A: Step 5a, the PINE A switches the traffic flow directly to PINE B via direct communication or via PEGC, just like the projection. 

Option B: Step 5b, the PINE A relocates the application context from application client in PINE A to application client in PINE B. After the context relocation, the application client in PINE A triggers the application relocation to PINE B. If the PIN client in PINE A or PIN client in PINE B can directly communicate with AS, the application client behaviour in step 5b is replaced by PINE A/B. 

7.X.3
Solution evaluation

This solution addresses KI#3 about " How to support application mechanism for service switching in a PIN between different PIN applications for achieving better service experience ". 

This solution relies on the PEMC to select the potential PINE for service switch according to the service type. 
Editor's Note:
More evaluation of this solution is waited for updated.
* * * End of change * * * *
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